SR F R E (SPM)
B T 5ED 2%ERIME (— RIRIFRE =) B fi7 (mg/m”)
A | RIEREE | H12 | HI13 | H14 | H15 | H16 | H17 [ H18 | H19 [ H20 | H21
FiFEith4sE | 0.097| 0.104| 0.104| 0.085| 0.082| 0.081| 0.082| 0.084| 0.056| 0.049
FHE/NERR 0.091| 0.116] 0.098| 0.092| 0.097| 0.086| 0.103| 0.097| 0.067| 0.050

— g AL EF/ A 0.088| 0.106| 0.093| 0.096| 0.078] 0.085| 0.088| 0.087| 0.060| 0.051

R LIRIE/INERL 0.094| 0.109| 0.093| 0.106| 0.089| 0.085| 0.088| 0.079| 0.076| 0.051

(£R) 45Kk 0.096| 0.097| 0.099| 0.077| 0.065| 0.069| 0.066| 0.057| 0.045| 0.039

23R JZKIE 0.106] 0.116] 0.110| 0.106] 0.097] 0.092| 0.103] 0.097| 0.073| 0.067

BRIl BIE=EEE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Rt

FRIFBMAE 0.054]| 0.054| 0.050| 0.053| 0.049] 0.042| 0.038| 0.037| 0.043| 0.039

FHE/NERR 0.055| 0.052| 0.054| 0.061] 0.055] 0.050| 0.043]| 0.043| 0.044| 0.041

—hB LFINER 0.052] 0.054| 0.052| 0.061| 0.053] 0.047| 0.044| 0.041| 0.046| 0.039

R L REINER 0.054| 0.051| 0.050| 0.060| 0.054| 0.049| 0.043| 0.038| 0.041| 0.036

(&R) #RAEK)II 0.038| 0.044| 0.039| 0.054| 0.047| 0.044| 0.037| 0.038| 0.053| 0.043

23R &EKIE 0.071] 0.060| 0.055| 0.077| 0.058] 0.056| 0.048| 0.047| 0.060| 0.056
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FiERMFRYE (SPM)

B FEHED 2%ERME GEREREREE) B 47 (mg/m°)
A [BIE=ESEE| Hi12 | H13 | H14 | HI5 [ H16 [ H17 | H18 | H19 | H20 | H21
FEh2E)] 0100 0118 0.115| 0.120| 0.097 | 0.100 [ 0.088 [ 0.073 | 0.066 | 0.053
R OET 0.101 | 0.113| 0099 | 0.112| 0090 | - - - - -
s = 0.105| 0.131 | 0.116 [ 0.102 | 0090 | 0.087 | 0.093| 0.091| 0073 | 0.058
RE A AEET _ _ _ _ _ _ - _ _ _
(#B) KF0 0.139 | 0.142| 0125 0.117 | 0081 | 0081 | 0087 | 0070 | 0066 | 0.062
23X&ZK{E | 0161 0.168| 0.183| 0.129| 0.107| 0.100| 0.093 | 0.091 | 0.080| 0.072
B |BIEESEE| H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 R1
A h2RE] 0053 0054 | 0050 | - - - - - - -
R HET - - - - - - - - - -
Ew |= E 0.064 | 0057 | 0052 | 0059 | 0053 | 0048 | 0043 | 0.034| 0041 | 0036
AE gaar - - - - 0048 | 0045 0042 | 0042 | 0041 | 0037
(#B) K#0 0.062 | 0.059 [ 0049 [ 0063 | 0053 | 0051 | 0044 | 0.040| 0038 | 0.038
23X & A{E | 0073 | 0068 | 0063 | 0078 | 0061 | 0.060| 0.049 | 0.049 | 0061 | 0.054
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FilERFRYE (SPM)

1REEQFE Y E (—RBRFENEE) BT (mg/m®)
@Rl | BIE=EE | H12 | H13 | H14 | HI15 | H16 | H17 | H18 | H19 | H20 | H21
FRIFBt4sE | 0.044]| 0.043| 0.037| 0.034| 0.031| 0.031| 0.031| 0.025( 0.023| 0.023
FHE/INERR 0.039| 0.043| 0.039| 0.037| 0.036/ 0.035| 0.039| 0.033| 0.026] 0.023
—pg |ALERNERR 0.039| 0.040| 0.035| 0.034| 0.031| 0.033| 0.032| 0.026| 0.024| 0.022
BE | amsmnats | 0.041] 0041 0034] 0.037| 0032| 0033| 0,034 0.028| 0027| 0.022
(#B) #R4B5K )1l | 0.045| 0.042| 0.037| 0.033| 0.029| 0.028| 0.027| 0.022| 0.019| 0.018
23R mAIE 0.047| 0.048| 0.042| 0.041| 0.040| 0.042| 0.039| 0.036| 0.035| 0.033
@R | BIE=EE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Ri
FiFEtmAE | 0.021] 0020 0.017| 0019 0.019| 0.018| 0.017| 0.017| 0.018| 0.018
FHE/INFERR 0.022| 0.022| 0.021| 0.023| 0.023| 0.020| 0.018( 0.018| 0.018( 0.017
—pg |ALEFNERR 0.021| 0.022| 0.021| 0.022| 0.022| 0.021| 0.018| 0.018| 0.019| 0.017
R5 | amamneet | 0021] 0.021] 0020] 0.021] 0.022| 0022| 0.019] 0.017| 0018[ 0.015
(#8) ¥r#E5k)Il | 0.016] 0.018| 0.017| 0.022| 0.021| 0.022| 0.017| 0.018| 0.020| 0.017
23R R KIE 0.031] 0.025| 0.024| 0.027| 0.024| 0.022| 0.020| 0.021| 0.021| 0.019
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FilERFRYE (SPM)

1

FREDSEFE ERAEAEE) B (mg/m®)

BRI | BIE=E S | H12 | H13 | H14 | H15 | H16 | H17 | H18 | H19 | H20 | H21

R HT 0.046 | 0.045 | 0.040 | 0.038 | 0.034 - - - - -
B®l= 0.050 | 0.052 | 0.046 | 0.043 | 0.038 | 0.037 | 0.037 | 0.032 | 0.028 | 0.026
A L4y - - - - - - - - - -

(#B) K#0 0.072 | 0.068 | 0.056 | 0.050 | 0.039 | 0.038 | 0.036 | 0.030 | 0.030 | 0.030

FEE kAT | 0.045 | 0.049 [ 0.044 | 0.040 | 0.035 | 0.035 | 0.032 | 0.025 | 0.024 | 0.022

23X JZKIE 0.080 [ 0.078 | 0.079 | 0.059 | 0.048 | 0.042 | 0.044 | 0.036 | 0.035 | 0.034

BRI BE=EEE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Ri

e dEtkar | 0.020|0021 (0020 - - - - - - -

ROET - - - - - - - - - -
a1= 0.025 | 0.024 | 0.021 | 0.023 [ 0.023 [ 0.022 [ 0.019 [ 0.016 [ 0.017 | 0.015
38 [4a a7 - - - - |0.021 | 0.020 [0.018 | 0.018 [ 0.019 | 0.017

(#B) K#0 0.027 | 0.025 | 0.022 | 0.023 [ 0.022 [ 0.022 [ 0.019 [ 0.018 [ 0.018 | 0.017

23R R KIE 0.032 | 0.028 | 0.029 | 0.027 | 0.024 | 0.024 | 0.022 | 0.022 | 0.023 | 0.020
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BRI T RWE (SPM)

AEXEHO. 1mg/ m* Bz -8% Bify (B%)
BAl | AlE=SE | H12 | H13 | H14 | H15 | H16 | H17 | H18 | H19 | H20 | H21
FIFRBHAE 5 10 8 3 3 3 3 1 0 0
0 FHE /N 2 14 4 4 6 1 11 6 0 0
— -
i bl N2 A 3 9 3 4 1 2 4 1 0 1
LIRIB IR 5 9 2 10 3 2 2 6 3 0
(&) #rAB K 5 5 7 2 0 0 0 0 0 0
A& Rl 7 13 15 13 7 7 2 1 0 0
R iip) 8 13 7 8 4| — — — — —
B 7= 10 16 16 8 4 3 5 4 0 1
nE =
R /T — — — — — - — - — -
(#B) XF0 56 44 24 12 2 1 2 0 0 0
BAl| AlE=EE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Rf
FIFE M NE 0 1 0 0 0 0 0 0 0 0
B 0 0 0 1 0 0 0 0 0 0
— =
=i JLEFF/NERL 0 1 0 0 0 0 0 0 0 0
LIRB IR 0 1 0 0 0 0 0 0 0 0
(&) HrAB K 0 0 0 0 0 0 0 0 0 0
Fif=gasl=t g} 0 1 o| — - — — — — —
= i) - — — — — - — - — -
Pz g
nE 12 0 1 0 0 0 0 0 0 0
TREERT — — - - 0 0 0
(#B) K#0 0 0 0 0
1B REAS0. 2mg/ m %8 F-B o % B 437 (BER%K)
ER | BIE=EFE | H12 | H13 | H14 | H15 | H16 | H17 | H18 | H19 | H20 | H21
KRB MNE 14 37 8 13 2 0 8 4 0 0
" FHE/INERL 7 34 5 1 10 0 27 14 0 0
I;%il,’;‘ BN AR 4| 28 0 5 0 0 8 6 0 0
LERIBINERR 8 25 0 15 15 0 2 17 12 0
(&ER) HR¥E KN 5 14 1 3 0 0 0 0 0 0
A& RG] 5 41 10 40 26 12 4 6 0
= T 7 40 8 22 12| — — — — —
B =
na 1= 8 84 11 10 11 0 10 17 8 2
TR /T — - - — — — - — — —
(#B) K0 99 | 147 22 21 2 0 0 0 0 0
R | BIE=EFE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Ri
FIFB B AR 0 0 0 1 0 0 0 0 0 0
. FHE/INERL 0 0 0 0 0 0 0 0 0 0
— i =
i |22 o 0 0 0 0 1 0 1 1 0 0
LIRIB R 0 1 0 1 0 1 0 0 0 0
(&ER) HRFE K 0 0 0 0 0 0 0 0 0 0
Fif=gasl=at g} 0 0 ol — — — — — — —
= T — — — — — - — - - -
BE 1= 1 0
e |2 1 1 0 0 0 0
AR BT — — — — 0 1 0 0
(#R) KF0 0 0 0 0 0 0 0 0 0 0




FlENFIRDE (SPM)
BRI FIRYE (SPM) DBIER A FESE B4 (A %%)

FER| | RIEESE | H12 | H13 | H14 | H15 | H16 | H17 | H18 | H19 | H20 | H21

FRIFE M NE 986 | 973 97.7| 992 992 992 99.2 | 99.7 | 100.0 | 100.0

FHE /N 995 969 989 | 989 983| 99.7| 970 98.3|100.0 | 100.0

—g [ALEF /R 99.2 | 975| 99.2| 989 | 99.7| 995 989 99.7 [ 100.0 [ 99.7

BRIE LRIB/INERL 986 | 975] 995 973 992 | 994 | 994 | 984 | 99.4|100.0

(#B) ¥r#85k)Il | 1000| 99.3| 98.0| 99.4 |100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0

23X EME 27/28| 8/28| 11/28| 8/28|28/28|28/28| 26/27|27/27] 27/217| 28/28

A& B EET 981 | 964 959 | 964 981 98.1| 995 99.7 | 100.0 | 100.0

SRET 978 964 | 980 | 978 989 - — - — -
ER == 972 955 956 978 | 989 99.2 | 986 | 989 (100.0| 99.7
B8 |4gmT — — — — — — — — — _

(#R) KFN 828 | 86.7| 943)| 96.7| 994 | 99.7( 99.41100.0 | 100.0 | 100.0

23R FERE 6/26| 0/25| 0/26| 0/25|24/25|25/25|25/25|25/25] 25/25] 26/26

Bl | AE=ESE | H22 | H23 | H24 | H25 | H26 | H27 | H28 | H29 | H30 | Ri

FiFBimsE |1000 | 99.7 [ 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0

FHE/INERR 100.0 | 100.0 | 100.0 | 99.7 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0

_gg |AeBER 1000 | 99.7 | 100.0 | 1000 | 100.0 | 100.0 | 1000 | 100.0 | 100.0 | 100.0

BRIE LTiRE/FEH | 1000 | 99.7|100.0 | 100.0 [ 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0

(#B) #x4&5kJIl ] 100.0 [ 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0
23R EE 27/27| 28/28| 28/28| 27/28| 28/28) 28/28| 28/28| 28/28| 28/28] 28/28

EEE&ET | 1000 | 99.7 11000 - - - — - - -

AT — =1 =-1=-1=-1=-1=-1=-1-1-
g [=E 1000 | 99.7 | 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0 | 100.0 [ 100.0
A8 |4g T — | = | = [ = [1000 1000|1000 10001000 | 1000

(#8) KA 100.0 [ 1000 [ 1000 [ 1000 [ 1000 | 1000 | 100.0 | 100.0 | 100.0 | 100.0

23R EFEME 26/26| 25/26| 26/26| 24/26| 26/26| 26/26| 26/26| 25/25| 25/25| 25/25
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